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1. f9# @ B v ArdffAd GFI= (Universal Relation)
T 3GTE0T8?
A.R ={(a, b): a, b & e 4TS BT HaEr 8}
B.R={(a b):a-b =10}
C.R={(a, b):|la-b|=0}
D.R = {(a, b): a, b & stT &&7 BT HaE 8} ©
&7 |a - b| = 0t IIHT & AT T &, 31d: I8 A
x A Jc g, 511 ArdiHAd T gldT &
2. Tordtaera A 7 9= R $i Ufddd (Reflexive) BaT
ST e afe:
A.(a,b)eR3dTa=b
B.(a, b) € RETG (b, a) €R
C.(a,a) ERYTD a € A &b foi
D.(a, b) ERAT (b, c) € REITI (a,¢) ER (@)
1T Jfdad Tr # Y dcd &d J 53T EldT g,
379 (a, a) € RTHT a € A b T
3. R={(a,b) € Zx Z: 2 TprfSaa=are (a - b)} e
UbR BT JFIE 8?7
A. areT FHHA B. dbaeT HehHUTRITE
C. Aged grs D. grdffad vl (C)
T I I Ufddd, GAfAd 3R TepHoreiia aHt ¢,
37d: I AT T4 Bl
4. fAufdif@a® @ PH-TTBATN — N TR TP THIfEd

(One-one) I TafT (onto) &t &2
A. f(x) = 2x B. f(x) = x*
CfX) =X 1 D. f(x) = 1 A)

7T > f(X) = 2x 3TT-3161T X &b foiE 3161 HIF odl &,
3 T8 TP THIE® 2, T THI UTdsTad et bt
Bfd 7&l 8, safcie Jg FaiT A&l &l
5. fooet et & g (Bijective) 81 &t T rdf 82
A. Bde TP ThITEid B. doareT aiT
C. 7 TP UhIfEid 4 & qai
D. U UHIEd 3R Jaim gHf (D)
1T Tg et I8 81T & 511 U Tahlieid 3R JqdiT
cHI &l

6. f(X) = X2, 5181 f: Z — Z &, BT WIH T EVIT?
A. Tt guics B. Tt Tepfaas T
C It iRFomeAd quifes D, Tt arafdes e
©
7T Tasdt Wt quTies o1 apf vl SeUTTcH el 8YdT, 31d:
URTE dbdel TR-RUTcHD YUTTch! BT T &
7. Fufefda ® eF-arare= gafid (Symmetric) 8, .G
T dY ufdad & 3R 7 €t dproreite?
A.R={(1,2), 2 )on{l, 2 3}
B.R={11),(2 2), 3 3)}
CR={(12),(273),03)}
D.R={(2,3), 3, 2)} (A)
7= (1, 2) 3R (2, 1) SHI R ® €, sHfcie 98 IAfdq &,
R 59 (1, 1), (2, 2) 39 A &1 8, sHfcie I8 7 wfaad
2 3R 7 & HpHuRIe!
8. Tfg BIs B f: X — Y g (bijective) B, @ I8 Berd
3ad1d (invertible) 81dT & aifds:
A.JE I TP UhIEd & B. I8 bad AT &
C.Ue TBR BoH &
D. S8®1 FchH (inverse) 3fEdc H gldT & (D)
1T : D fGb et BT T fgdld ahH el &,
safciv g 3rad1a erdT 2
9. f(x) = X%, ST&T f: R — R &, 59 e bl Upid T &?
A fgb B. delel Ueh UplElds
C.q9 Uk UhIEd, T8 qail D, haa gaiT Q)
1&g : (1) = f(-1) T IE T UhIeih el & 3R -2 SHbI
HI9 &l §9aT, safaie I8 JaiT Ht 7&l 8l
10.9fG A ={1,2,3} 81, A A8 A H $d fbd U ThIfEid
ol JHT 8°
A3 B.6
C.9 D.8 (B)
7T 3 dcdl R Ueb Uhleid Bheld 3! = 6 B4l H &4 &,
ST et AT bl HAT €|




